
155 SWANSON ROAD
BOXBOROUGH, MA 01719

TOLERANCES:
UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS IN INCHES
.XX +/- .01
.XXX +/- .005
ANGLES +/- 1

THIS DRAWING IS THE PROPERTY OF SYNQOR INC.
IT IS NOT TO BE REPRODUCED OR COPIES, IN WHOLE
OR IN PART, OR USED FOR FURNISHING INFORMATION
TO OTHERS, OR FOR ANY PURPOSE DETRIMENTAL TO
THE INTERESTS OF SYNQOR. THE INFORMATION SHOWN
HEREIN MAY BE PROTECTED BY PATENTS OWNED OR
CONTROLLED BY SYNQOR. 

THIRD ANGLE PROJECTION

A

B

C

1 2 3 4

1 2 3 4

A

B

CUPS 2U HARD MOUNT BRACKET SET
SOURCE: PRO/E SYN-9033_E_
SIZE DATE DWG. NO. REV

A JUL-20-22 SYN-9033 E
SCALE: 0.400 DRAWN: KJD CHECK: SHEET 1 of 5

REVISIONS
REV DESCRIPTION DATE APPROVED

D UPDATED HOLE LOCATIONS PER ECO #13-16707 06/13/13 DS
E REAR BRACKET SLOT SPEC, ECO 22-29011 07/20/22 K.DUBROWN

KIT CONTENTS:

INCLUDED IN KIT:
1. FRONT BRACKET, QTY: 2
2. END BRACKET, QTY: 2
3. STANDARD HARDWARE PACKAGE INCLUDES ALL THE
    HARDWARE NECESSARY TO MOUNT THE BRACKETS:
    #8-32 X 1/2" MACHINE SCREWS (48) AND #10-32 X 1/2"
    MACHINE SCREWS (24).

REFERENCE SYNQOR SPECIFICATION: 554-0000003

REAR BRACKET 

 FRONT BRACKET 

 48X 8-32 X 1/2" LENGTH MACHINE SCREWS 

 10-32 X 1/2" LENGTH MACHINE SCREWS 



155 SWANSON ROAD
BOXBOROUGH, MA 01719

TOLERANCES:
UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS IN INCHES
.XX +/- .01
.XXX +/- .005
ANGLES +/- 1

THIS DRAWING IS THE PROPERTY OF SYNQOR INC.
IT IS NOT TO BE REPRODUCED OR COPIES, IN WHOLE
OR IN PART, OR USED FOR FURNISHING INFORMATION
TO OTHERS, OR FOR ANY PURPOSE DETRIMENTAL TO
THE INTERESTS OF SYNQOR. THE INFORMATION SHOWN
HEREIN MAY BE PROTECTED BY PATENTS OWNED OR
CONTROLLED BY SYNQOR. 

THIRD ANGLE PROJECTION

A

B

C

1 2 3 4

1 2 3 4

A

B

CUPS 2U HARD MOUNT BRACKET SET
SOURCE: PRO/E 2U_HARD_MOUNT_ASSEMBLY_STEP1
SIZE DATE DWG. NO. REV

A JUL-20-22 SYN-9033 E
SCALE: 0.200 DRAWN: KJD CHECK: SHEET 2 of 5

BRACKET CHASSIS MOUNTING DIAGRAM

 REAR BRACKET 

8-32 X 1/2" LENGTH PAN HEAD MACHINE SCREW 

 FRONT BRACKET 



155 SWANSON ROAD
BOXBOROUGH, MA 01719

TOLERANCES:
UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS IN INCHES
.XX +/- .01
.XXX +/- .005
ANGLES +/- 1

THIS DRAWING IS THE PROPERTY OF SYNQOR INC.
IT IS NOT TO BE REPRODUCED OR COPIES, IN WHOLE
OR IN PART, OR USED FOR FURNISHING INFORMATION
TO OTHERS, OR FOR ANY PURPOSE DETRIMENTAL TO
THE INTERESTS OF SYNQOR. THE INFORMATION SHOWN
HEREIN MAY BE PROTECTED BY PATENTS OWNED OR
CONTROLLED BY SYNQOR. 

THIRD ANGLE PROJECTION

A

B

C

1 2 3 4

1 2 3 4

A

B

CUPS 2U HARD MOUNT BRACKET SET
SOURCE: PRO/E 2U_HARD_MOUNT_ASSEMBLY
SIZE DATE DWG. NO. REV

A JUL-20-22 SYN-9033 E
SCALE: 0.200 DRAWN: KJD CHECK: SHEET 3 of 5

BRACKET-RACK MOUNTING DIAGRAM

10-32 X 1/2" LENGTH PAN-HEAD MACHINE SCREW

2U UPS (NOT INCLUDED) 

CABINET REAR MOUNTING RAIL, LEFT SIDE 

CABINET FRONT MOUNTING 
 RAIL, LEFT SIDE 

 CABINET REAR MOUNTING RAIL, 
 RIGHT SIDE

 CABINET FRONT MOUNTING RAIL, 
 RIGHT SIDE 



155 SWANSON ROAD
BOXBOROUGH, MA 01719

TOLERANCES:
UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS IN INCHES
.XX +/- .01
.XXX +/- .005
ANGLES +/- 1

THIS DRAWING IS THE PROPERTY OF SYNQOR INC.
IT IS NOT TO BE REPRODUCED OR COPIES, IN WHOLE
OR IN PART, OR USED FOR FURNISHING INFORMATION
TO OTHERS, OR FOR ANY PURPOSE DETRIMENTAL TO
THE INTERESTS OF SYNQOR. THE INFORMATION SHOWN
HEREIN MAY BE PROTECTED BY PATENTS OWNED OR
CONTROLLED BY SYNQOR. 

THIRD ANGLE PROJECTION

A

B

C

1 2 3 4

1 2 3 4

A

B

C

1.00

0.250

0.625 0.625

0.200 TYP.

0.240

3.35

0.750

0.3130.313

2.00

0.500

12X 0.184 THRU
0.800

1.7500.800

0.313 0.313

0.625 0.625

1.750

0.250

12X R0.102

UPS 2U HARD MOUNT BRACKET SET
SOURCE: PRO/E 554-1000003_E_FRONT
SIZE DATE DWG. NO. REV

A JUL-20-22 SYN-9033 E
SCALE: 1.000 DRAWN: KJD CHECK: SHEET 4 of 5

FRONT BRACKET DETAILS

NOTES:
4-1. MATERIAL: ALUMINUM 
4-2. FINISH: CLEAR ANODIZED

R .125



155 SWANSON ROAD
BOXBOROUGH, MA 01719

TOLERANCES:
UNLESS OTHERWISE SPECIFIED:
ALL DIMENSIONS IN INCHES
.XX +/- .01
.XXX +/- .005
ANGLES +/- 1

THIS DRAWING IS THE PROPERTY OF SYNQOR INC.
IT IS NOT TO BE REPRODUCED OR COPIES, IN WHOLE
OR IN PART, OR USED FOR FURNISHING INFORMATION
TO OTHERS, OR FOR ANY PURPOSE DETRIMENTAL TO
THE INTERESTS OF SYNQOR. THE INFORMATION SHOWN
HEREIN MAY BE PROTECTED BY PATENTS OWNED OR
CONTROLLED BY SYNQOR. 

THIRD ANGLE PROJECTION

A

B

C

1 2 3 4

1 2 3 4

A

B

C

R0.125

5.500

0.625

0.625

0.250

3.35

0.240

0.200 TYP.

1.00

0.800

1.750

0.625

0.625

0.750

0.805
0.313

0.313

1.750

0.313

0.313

0.096 TYP.

4.000

0.250

24X R0.092

12X R0.102

UPS 2U HARD MOUNT BRACKET SET
SOURCE: PRO/E 554-1000003_E_REAR
SIZE DATE DWG. NO. REV

A JUL-20-22 SYN-9033 E
SCALE: 0.625 DRAWN: KJD CHECK: SHEET 5 of 5

REAR BRACKET DETAILS

NOTES:
5-1. MATERIAL: ALUMINUM 
5-2. FINISH: CLEAR ANODIZED


	Sheet 1
	Views
	Iso


	Sheet 2
	Views
	Iso


	Sheet 3
	Views
	Iso


	Sheet 4
	Views
	Front
	Right
	Top


	Sheet 5
	Views
	Front
	Right
	Top



